Ll Nick surveyed a random sample of the freshman
class of his high school to determine whether the Fall
' Festival should be held in October or November. Of
‘the 90 students surveyed, 25.6% preferred October.
Based on this information, about how many students
in the entire 225-person class would be expected to
prefer having the Fall Festival in October?
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A radioactive substance decays at an annual rate of
13 percent. If the initial amount of the substance is
325 grams, which of the following functions f
models the remaining amount of the substance, in
grams, f years later?
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A) f(t) = 325(0.87)
B) f(t)=325(0.13)
C) f(t) = 0.87(325)"
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W 3 . N \— \ P Alma bought a laptop computer at a store that gave a
5 . ﬂ» - S 20 percent discount off its original price. The total
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